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1 () Whatare the main characteristies of enzymes?
() Howdo enzymes work?
() Explain the main types of enzymes inkibition.

() Drawa flly labeled diagram of a generalized animal cel as seen under the

electron microscope?
(%) Give five differences befween this cll a chlorenchyma cell?

() State five disadvantages of preparing and viewing cells uder the electron

‘microscape.
(@ Why are electron microscopes not found in laberatories in Cameroonizn

schools?

3 (5] Explin whylower organism such as uicellulr anmals and cidarians fack s
resprstory organ
(6) Name any thrae respiratory pigments inthe animals kingdom, theircorresponding
metals, and group of animals n which each s found ( Tabulte your answer)
(6 1) Descrne the ventiation macharism i a named bony fish.
i) Giveraasons why gaseous exchange s mor effectives in 3 Bony than cariaginous

iz,

5 (s) Whatare the main festuresofthe genstic cods?

(6)  Withthe sd ofan ANNOTATED fow diagram only, show the stages involved n sperm
formation n man.

(6 Describethe processesleading to doubls fecizatin inflowering plants.

5. (3] Expiin whatis meant by the term acosystam.
(6) Wit refrance to exampls from 2 namad acosystem,explsn whst you understand by

e3¢ ofthe ollowing
() Detrtusfeeders,
(i) Decomposers
(i) Edaphic factors,
() Pyramid of Bomass
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& (o) Wnatss nene impuise?
6) Describe how it transmittd siong 3 neurone.
(e How can this impulse be transmitted acros synapse?
{6) Diferentate betwesn nervous and hormonal ransmission

7. inhamster theslse forlong body s dominant over that for shart body (tumpy,thtfor
Staight fu(straigh) i dominant aver cury furlcurh) and thtforblack eyes.
(s Using sitabe lettrs give the possibe ganotypes o hamster whish are:
() Long bodied withsrsght fur and bisck eyes.
() Smpy, curlyand red eyed
(6) On crossing stumy, sraigh fur, back eyed hamster with 3 stumpy, culy and red eyed
hamster, the ollowing progeny were obtained:
31 stumpy sright red eyed
25 stumpy sright isck ayed
25 stumpy curly red eyed
32 stumpy cury lack eyed

G the genotypes of th parents 2nd areasoned sxplanstion ofthe resuls obtngc.

5 (3] What do you understand by biotechnology?

() Th search or aiternativesources of anargy has become.3 pioity following i n il
prces and threst of anvironmental problem caused by the buring offossil fuss How s
biotechnology usefll i tis field?

) State ow biotachnology is usefullinthe pharmaceutica production ofpenticiln





